XYZ,,=100.0, 100.0 , 100.0

8= a, [ (x=x) /)
bz byolz/y

a0=1, by =-04

X, = 0,110, B, = 0,900
Crg=[AF+BA

6 OstwaldFarben (o)
von maximalem (m)C,,

Name Bereich X, v

V) 4947775 87,55 96.13 296

N, 380_775 250 250
Z, 380_775 180 180

linearen Farbenraum (Cyg . Y)
Lichtart E00, Y,,=10Q Y, =25

1-69 i 100

fog,
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L R Yy

R, 570775 7414 5535 26.13 ‘0.4794 03579 568 S0
04105 0.4507 573 463
494570 3851 65.88 29.56 02875 0.4918 53 5360
C!350_570 5098 69.77 99.98 02309 0316 489 598
B 330_494 37.56 2898 9552 02317 01788463 573
M, 570.494 866 59.23 9556 03587 02453 5360536
W}380_775 1000 1000 100.0 0.3333 0.3333 100%

250 03333 03333 25%
180 03333 03333 1%

v ,
N
Ao 4 . 1Cn8p2
T t
2
o 0 50
Parameter:
Y & Name
Lichtart EOO
Y,=100 Y,=25
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